.

4. Graph the directed line segment ST with endpoints S(—3, —2) and T(4, 5). Then find
the coordinates-of point P along the directed line segment S7'so that the ratio of SP to
PTis 3 to 4. (HSG-GPE.B.6) FHY:T¢ “'FS

5. The graph shows quadrilateral WX¥Z and quadrilateral ABCD. o C l \"3"\)
(HSG-CO.B.6) \,:,Y 3-2) /
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a. Write a composition of transformations that maps quadrilateral WXYZ to

quadrilateral ABCD. m }‘9 )L Ove, \Z ~ )(
ohing,.

b. Are the quadsilaterals congruent? Explain your reas bir
' S JinG ‘M—,({{— ﬁmm; p(leq(] Mdp§ Agd} /b 'kVZ_

6. Which equation represents the line passing through the pom‘??—& S)Ythat is parallel to

theliney = —1x — 57 (HSG-GPE.B.5) ’ =yl

® y=3+2 ) i‘n/PfIU §qu\?§/‘{
:__%x_s ?,.T"'-%.h’“é ..-5‘:' -3 Fﬂlg&pﬂ‘“‘l'

© y=3x-15 )( ><

@ -3+ DR+ =3 v

7. Which scale factor(s) would create a dilation of AB that is shorter than AB ? Select all
that apply. (HSG-SRT.A.1b)

— (o<
A °s
1 1 3 3 7
Sanv b

8. List one possible set of coordinates of the vertices of quadrilateral ABCD for each (41 0
description. (HSG-C0.A.3) (
Wk

a. A reflection in the y-axis maps quadrilateral ABCD onto itself. ‘Ct) N S

b. A reflection in the x-axis maps quadrilateral ABCD onto itself< q/| D
c. A rotation of 90° about the origin maps quadrilateral ABCD onto itself. - [f‘ (’-l)
d. A rotation of 180° about the origin maps quadrilateral ABCD onto itself. '
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